
"Nested parallellism
"
<(10) 16:29()); r:= a +6, {1)
*skip !! skip); === a+b, {a=12, 5=428>
H (r=a+b, {a=12, b = ~2}>
4 <skip, &a=2, 6=42, r=5487
I little more realistic
Slls I wait (a)
a & Threads
Not used before
a fresh
Sills, σ>> (s;; Wait (a), (Lars {]>
lal-skip
<wait (a), > > (Ship, σ>
<S+10>H<st'10'>
<s, olams]> <s, Lars']>
Why is the main thread special?
Instead of <5,07, start with σ[main Hs]
<a><a σ'7
о Сандано чандад
#of
Processors
resolve
odujara
races
"Actual" parallelism: Fiεll,n). (s;, 07 HSS;', :'> 1st σ = megel...)
((a s ) > σ' (a, ~>s.). (a,+x;']



Not united to rested parallellish!
en la
a esh
<= 5574(xia (as)
(wait 5>>>7<skip, <->
while I
do
  
add-lister ();
-spawn (handle can add-)
Vote: if colle skip, then wait & is stack? - Progress must change
If no and Preck then <> final or (5,0)+(50)
2- 5=wait x and low) kip
to does that mem Flow can step? Yes, as we're set
thugs up. But be care'w!!
x== Spain (wait y)
Y== spawn (wait x)
Deadlock!



- 1x future e
Futures Promises
<X := future e
07 (skip, σ (a+x==e] (x^-]>
placeholder
SX := future (f 6)) - spawns
a new thread
y = future (g()) -spawns a new thread
z == x + y
-
waits til x and
y are filled in
-Same problem w/progress
<5, 13> * <2:=x+y, {a^> x:= f (), 6 +xy:z 9 (), XH-1 Y--)
* <2:=x+y, & a >> x:= &, buy:= {, XH-, ym->
1* <2:= x+y, {a+skip, brskip, x+78, +5)
(skip, askip, braskip, x+78, YMS, 2 -->13)
a b computed in parallel » Parallellism
ab computed when trying to read
-
=) Laziness!


